Name:

-

L Prefixes: im- and in-)

The prefixes im- and in- mean not.

—

—s

It was not possible to reach

the dish on the shelf.
It was impossible to reach The beehive was not active.

the dish on the shelf. The beehive was inactive.
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the printable version of this worksheet.

3. The little boy wanted to be , but he
needed help climbing the stairs. (not dependent)
4. The road was because of construction.

(not passable)

5. The toys were a little for the older kids.
(not mature)

6. Please don't write an sentence.
(not complete)
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ANSWER KEY

-

L Prefixes: im- and in-)

The prefixes im- and in- mean not.

It was not possible to reach

the dish on the shelf.

The beehive was not active.
=

(not complete)
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